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Guess Paper – 2009

Class – XII
Subject –Chemistry    
U.T. – ALCOHOL, PHENOL AND ETHER

TIME – 30M                  






                                         F.M -  30
1.) Name the reagents used in following reactions: -                                                                            4x1=4
a.) Bromination of Phenol to 2,4,6-tribromophenol.          b.) Oxidation of a primary alcohol to aldehyde.

c.) Dehydration of propan-2-ol to propene.                        d.) Butan 2-one to butan-2-ol.

2.) Give reasons for the following: -                                                                                                     4x1=4
a.) Ortho-nitrophenol is more acidic than ortho-methoxyphenol.

b.) Phenol is more acidic than ethanol.

c.) Ethanol has higher boiling point than methoxymethane
d.) Para-amino phenol is less acidic than phenol.

3.) Distinguish between the following pairs: -                                                                                     4x1=4
a.) Phenol and Cyclohexanol                                             b.) Propan-2-ol and benzyl alcohol.      

c.) Ethanol and Phenol                                                      d.) Propan –1-ol and propan –2-ol.

4.) Write equations of the following reactions: -                                                                                  4x1=4
a.) Friedel-Crafts reaction – alkylation of anisole.

b.) Nitration of anisole.

c.) Bromination of anisole in ethanoic acid medium.

d.) Friedel-Craft’s acetylation of anisole.

5.) An organic compound (A) having molecular formula C6H6O gives a characteristic colour with aqueous 

FeCl3 solution (A) on treatment with CO2 and NaOH at 400 K under high pressure gives (B) which on acidification gives a compound (C). C reacts with acetyl chloride to give (D), which is a popular Pain Killer. Deduce the structures of (A), (B). (C) and (D).                                                                             3
6.) Write the chemical equations and reaction conditions for the conversion of: -                               4x1=4 

a.) Phenol to salicylaldehyde.

b.) Methanol to ethanol.

c.) Anisole to 4-methoxyacetophenone.

d.) Propene to propan-2-ol.
7.) Explain the following with equations: -                                                                                          3x1=3
a.) Hydroboration – Oxidation                         b.) Esterification                             c.) Acetylation.       

8.) 
a.) What is denaturation of alcohol?                                                                                               4x1=4
b.) What are unsymmetrical ethers?

c.) While separating a mixture of ortho and para nitrophenols by steam distillation, name the isomer 

     which will be steam volatile. Give reason.

d.) Arrange the following alcohols in the order of increasing reactivity towards Lucas reagent: 

     2-butanol, 1-butanol, 2-methyl-2-propanol 
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